Description The process innovation assignment is as follows-- Using the theories we have discussed in this class, explain how the processes of Tesla neutralizes the threats to its competitive advantages. The process innovation assignment is as follows-- Using the theories we have discussed in this class, explain how the processes of Tesla neutralizes the threats to its competitive advantages. You may draw upon the value chain of the firm process innovation and the 2*2 matrix of the theory of disruption. Recall that within the value chain of a company, the issues of strategic fit and trade-offs help firms to create imitation barriers. Recall also that one of the dimensions of the 2*2 matrix is good or bad fit with the processes. You may have to research Tesla's processes, specifically at the electric vehicle (EV) division. It may also make sense to look at Tesla's solar and SpaceX businesses to explore if, and how, those businesses may help the EV business create imitation, substitution, and hold-up barriers. Please cite all relevant literature and sources for your information. Recall also that one of the dimensions of the 2*2 matrix is good or bad fit with the processes. You may also draw upon other topics we have discussed in class. You may have to research Tesla's processes, specifically at the electric vehicle (EV) division. It may also make sense to take a look at Tesla's solar and SpaceX businesses to explore if, and how, those businesses may help the EV business create imitation, substitution, and hold-up barriers. Please cite all relevant literature and sources for your information. Explain how the processes of Tesla neutralizes the threats to its competitive advantages 
